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tlow many angles does a circle
< ' >, = L2 inches 1 foot
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$20.59
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Persha had
na. How many

O37XJ
8L+ 9 =9 3r.

-45 5

5 blue ribbons and 4 red ribbons. She gave 3 ribbons to
red ribbons did she have left? (Answer: You can't teII.)
How many even numbers are there beween 25 and 50?
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Which is longer, 10cm or 4 inches? took .. rfl"f tfr?t.l ] I I l, I

a line 8 inches long

$1 .13
L.24

+2.35

63s
-297

What number is marked

# 0 2s*s=

on the number line?

IT34 67

Jeff
John

Jack

JilI
Jane

10 L1 L2 13

Who ate the same
amount of ice cream

cones?

A
F/= one ice cream
Y cone

V ? ? +e
V q/ v
v ? V v
v
V V
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235
542

+13 4

37
x5

28* 4 =$8 .41
-5.59

write in the missing number:
15, 30, 45, _, 75, 90

!{hat, is the tenperature?
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